
Fill in the Blanks Finding Lengths Using Cosine Rule 
 

Labelled 
diagram 

Substitute  
into formula 𝒙𝟐 𝒙 to 1dp 

 

𝑥2 = 72 + 52 
−2 × 7 × 5 × cos 76 

𝑥2 = 57.065.. 𝑥 = 7.6 𝑐𝑚 

 

𝑥2 = 112 + 82 
−2 × 11 × 8 × cos 96 

𝑥2 = 203.397.. 𝑥 = 14.3 𝑚𝑚 

 

𝑥2 = 172 + 102 
−2 × 17 × 10 × cos 47 

𝑥2 = 157.120.. 𝑥 = 12.5 𝑐𝑚 

 

𝑥2 = 1.62 + 0.92 
−2 × 1.6 × 0.9 × cos 70 

𝑥2 = 2.384.. 𝑥 = 1.5 𝑚 

 

𝑥2 = 52 + 122 
−2 × 5 × 12 × cos 90 

𝑥2 = 169 𝑥 = 13 𝑐𝑚 

 

𝑥2 = 162 + 122 
−2 × 16 × 12 × cos 60 

𝑥2 = 208 𝑥 = 14.4 𝑚𝑚 

 

𝑥2 = 322 + 142 
−2 × 32 × 14 × cos 53 

𝑥2 = 680.77.. 
𝑥 = 26.1  

(𝑐𝑚/𝑚𝑚/𝑚) 

 


